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1. Which one of the following was not an outcome of Shock Therapy?

a. The old system of social welfare got destroyed.

b. Industries were put up for sale to the private sector.

c. The value of the Russian currency, the Ruble rose dramatically.
d. Russia started to import food grains.

2. What was Marshall plan?
3. Who proposed four modernisations in China?
i. MaoZedong ii. Zhou EnlLai iii.Deng Xiaoping iv. Xi Zinping
4, What do you mean by Shock Therapy?
5. How Russia and other countries were able to revive their economy after Shock
therapy?
6. What is meant by the ‘ASEAN way’? Mention any two of its objective.
7. How did the European Union exercise its economic and ‘political and diplomatic’
influence?
8. How Gorbachev’s reform policies affected the Soviet system?
9. Highlight any four consequences of Disintegration of USSR.
10. | Explain the causes of disintegration of USSR.
OR
Explain the factors responsible for the rise of Chinese economy.
11.

Study the given cartoon carefully and answer the questions that follow-
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i To which country this cartoon is related?
ii. Red book is related to which ideology?

iii. What does the ‘red power tie’ depict?
iv. What is the difference between then and now as per the cartoon?
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1. Which one of the following was not a condition of cold war era? 1
a. The countries were being allied to either of the superpower.
b. There was piling up of arms at both sides.
c. The whole world was in fear that any time war can be waged.
d. Superpowers had agreed upon single ideology that was capitalism.
2. What was ASEAN WAY? 1
3. Who proposed ‘open door policy’ in China? 1
i. MaoZedong ii. Zhou EnlLai iii. Deng Xiaoping iv. Xi Zinping
4, What do you mean by Glasnost? 1
5. How Russia and other countries were able to revive their economy after Shock 2
therapy?
6. Mention the primary and secondary objective of ASEAN. 2
7. Highlight the influence of ASEAN Security Community and ASEAN Economic 4
Community?
8. What Russia was inherited by USSR after its disintegration? 4
9. Highlight any four consequences of Shock Therapy. 4
10. | Explain the causes of disintegration of USSR. 6
OR
Explain the factors responsible for the rise of Chinese economy.
11. 4

Study the given cartoon carefully and answer the questions that follow-

'Now L
1 NOW [

HU'S
CAPITALIST g2 -~
RED "POWER

TIE" .
|
i To which country this cartoon is related?

ii. Red book is related to which ideology?

iii. What does the ‘red power tie’ depict?
iv. What is the difference between then and now as per the cartoon?
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1. Which one of the following was not a condition of cold war era? 1
a. The countries were being allied to either of the superpower.
b. There was piling up of arms at both sides.
c. The whole world was in fear that any time war can be waged.
d. Superpowers had agreed upon single ideology that was capitalism.
Ans. d
2. What was ASEAN WAY? 1
An informal way of cooperation and interaction.
3. Who proposed ‘open door policy’ in China? 1
i. MaoZedong ii. Zhou EnlLai iii. Deng Xiaoping iv. Xi Zinping
Ans. iii
4, What do you mean by Glasnost? 1
openness
5. How Russia and other countries were able to revive their economy after Shock 2
therapy?
Russia by selling oil and natural gases other through rents of pipelines.
6. Mention the primary and secondary objective of ASEAN. 2
Economic growth and through that cultural and social development.
Peace and cooperation rule of law and UN charter
7. Highlight the influence of ASEAN Security Community and ASEAN Economic 4
Community?
8. What Russia was inherited by USSR after its disintegration? 4
Russia inherited the UN permanent seat
Nuclear weapons
International treaties on his name.
9. Highlight any four consequences of Shock Therapy. 4
Industries sold away on throw away prices
Ruble value fell down quickly
Mafia emerged
Production affected worse way
WB IMF became dominating
FDI became main engine of development
10. | Explain the causes of disintegration of USSR. 6
OR
Explain the factors responsible for the rise of Chinese economy.
Stagnation of economy
Stagnation of political party system
Economy lagged behind the west
Feeling of nationalism and sovereignty




OR

Break of isolation in 1972

Four modernisations by zhou en lai

Open door policy

SEZs

Privatisation of agriculture and industries.
Member of WTO

11.

Study the given cartoon carefully and answer the questions that follow-
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i To which country this cartoon is related?
ii. Red book is related to which ideology?
iii. What does the ‘red power tie’ depict?
iv. What is the difference between then and now as per the cartoon?
Ans. i. China
ii. Communism
iii. Capitalism
iv earlier communism was followed later they adopted capitalism
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1. Which one of the following was not an outcome of Shock Therapy? 1
a. The old system of social welfare got destroyed.
b. Industries were put up for sale to the private sector.
c. The value of the Russian currency, the Ruble rose dramatically.
d. Russia started to import food grains.
Ans. s
2. What was Marshall plan? 1
Financial aid by America
3. Who proposed four modernisations in China? 1
i. MaoZedong ii. Zhou EnlLai iii.Deng Xiaoping iv. Xi Zinping
Ans. ii
4, What do you mean by Shock Therapy? 1
A painful process of transformation from socialist authoritarian system to
democratic capitalist system.
5. How Russia and other countries were able to revive their economy after Shock 2
therapy?
Russia by selling oil and natural gases other through rents of pipelines.
6. What is meant by the ‘ASEAN way’? Mention any two of its objective. 2
An informal way of cooperation and interaction.
C
7. How did the European Union exercise its economic and ‘political and diplomatic’ 4
influence?
GDP share 17 billian dollars
Expenditure on defence second largest
France permanent seat of UN
Non-permanent seat other members
8. How Gorbachev’s reform policies affected the Soviet system? 4
Perestroika and Glasnost
Withdrew troops from Afghanistan
Loosen the Administrative system.
9. Highlight any four consequences of Disintegration of USSR. 4
End of cold war era
End of bipolarity
End of arm race
Emergence of new countries (explain)
10. | Explain the causes of disintegration of USSR. 6
OR
Explain the factors responsible for the rise of Chinese economy.
Stagnation of economy




Stagnation of political party system
Economy lagged behind the west

Feeling of nationalism and sovereignty
OR

Break of isolation in 1972

Four modernisations by zhou en lai

Open door policy

SEZs

Privatisation of agriculture and industries.
Member of WTO
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Study the given cartoon carefully and answer the questions that follow-
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i To which country this cartoon is related?
ii. Red book is related to which ideology?
iii. What does the ‘red power tie’ depict?
iv. What is the difference between then and now as per the cartoon?
Ans. i. China
ii. Communism
iii. Capitalism
iv earlier communism was followed later they adopted capitalism




